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Os&dd us % A8 It 24K
80,000& »40H 3,200
SENWH 6xE NEEIL
100,000 *40H 4,000
OSZ0i4 A2Lsing &I
40,0003 x40 23] 3,200




A SEXNED
M =EQUEFY
Chol: 2SN B =EME (19 @)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SENS(MEINLS) FEX RS 25,200 32,040 26,840
& 5,040
Al 20,160
201 L2 | 25,200 32,040 6,840
& 5,040
Al 20,160
01 At 22|l 25,200 32,040 6,840
OsE04(MEHHs]) 38X 2SKIA
60,0003 x420Z 25,200
= 5,040
Al 20,160
N=E OEY oMzl AFAY 50,000 0 50,000
= 25,000
Al 25,000
402 QI2E X201 ™ 50,000 0 50,000
= 25,000
Al 25,000
02 QIZEXH2 AL 2 X (01 & TH &) 50,000 0 50,000
OXSY LB FPe| AHAY
50,000,000 *1JH 2 50,000
= 25,000
Al 25,000
=0l OHMAN AAS KR 6,000 0 6,000
= 3,000
Al 3,000
201 2| 6,000 0 6,000
= 3,000
Al 3,000
01 AtR2telt] 6,000 0 6,000
O==el OINDE AL
230,000& * 103 2,300
= 1,150
Al 1,150
Os=Y oHEI2 M 500,000 * 14! 500
= 250
Al 250
OSxe JHgE 2
3,200,000 14 3,200
= 1,600
Al 1,600
ersd JI=Xd 10,000 0 10,000
= 3,000
Al 7,000
201 L2 | 10,000 0 10,000




FA sENED
3y sEUHSY
Chol: 2SN B =EME (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,000
Al 7,000
01 At2tltl 10,000 0 10,000
OXlmrsg |4 & Jlshe
10,000,000 * 14 10,000
= 3,000
Al 7,000
sEAEg & 2= 321,900 1,004,700 682,800
= 70,000
Al 251,900
4|z d2sHY 7,240 7,240 0
201 2= 1,240 1,240
01 At22t2ltl 1,240 1,240
Odgllz HHuUT A<
310,000& %42 1,240
206 M=l 4,000 4,000
01 MZH| 4,000 4,000
Odall=s HMus He 74
150,000& #2701 2% 102] 3,000
OdEIdsl Botal £5 & ZATHIMZ
- 100,000& *105 1,000
301 EtE NS 2,000 2,000
11 dALEEIXIE S 2,000 2,000
Oda|s dEs=EHE dMAIAS AHIX
el 50,000 *40H 2,000
SESA SEINA 136,000 149,000 13,000
201 er2 3| 117,000 130,000 13,000
01 AtR2te|HI 117,000 130,000 A13,000
OXgsA 88 45,000,000 *14] 45,000
OXSESA EXIE M
250,000 x6IH A 1,500
OXNg a4 2 M 500,000 *5IH 2 2,500
Os2= N& 220,000 #2500 A 5,500
Oel2s - E2M ME
1,500& 10,0005 15,000
ONEXl HI= 1503 2,000 % 1000 2 3,000
OXe 239 e| &= & 82
25,000,000& » 14 25,000
OXIgsAl Jl=01d ALE
15,000,000 * 14! 15,000
O2gAds g4+
70,0002 102 +23] 1,400
OAMERIE & 25| MEUs ZA
=g 310,000 %102 3,100
206 MH=H| 7,000 7,000 0




FA sENED
3y sEUHSY
Rl sENENE f 28 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 7,000 7,000 0
OJI=01d s & AR MHE
350,0002 52| *2H 3,500
OIMERIE & 22502 MEUs M=
350,000& %102 3,500
301 22N 12,000 12,000
11 AALAEIXIE S 4,000 4,000
OXg2He| 2args &It AdIXA
100,000 x10E ~42] 4,000
14 IIEt2 83 8,000 8,000 0
OXZBoE SUEH 28 243
200, 0002 *10E *42] 8,000
sENAUS2 2E 27,330 27,330 0
201 fet=3| 23,830 23,830 0
01 At 22|l 16,126 6.118 10,008
OsEitdus2 22|
2,000,000& *14] 2,000
OF=J| & Hltl Xtz
134,000~ 12 1,608
Oag ¥ s2D| N2 EA
264,000& 128 3,168
OFA2CIEY 1,000,000 *62] 6,000
ogeEy 70,0003 * 122 840
Os2J| et 2 At /S W=
30,0002 %14 30
OsEANHNSE WF AL
310,000 +82] 2,480
02 S22l 7,704 17,712 10,008
OL=¥=3 60,0003 * 11 A+ 122 720
OZAIARS 179,000& ~12& 2,148
Ostle= 53,0002 12 636
O8Il ZIIBA 200,000& %12 200
OsEitdus2 FA2el
4,000,000 * 14 4,000
206 M=l 3,500 3,500
01 MZH| 3,500 3,500
OsEiusd dslig 7
350,000 %102 3,500
sZEHE & = 28 11,330 11,130 200
201 ger=3| 5,130 4,930 200
01 At 2|l 5,130 4,930 200
O8E2= HH 2,000,000 *14] 2,000
OsZEHE - X7 Us 2A+E
310,000 +3& 930
Os&ME AHINEN X 2tz
550,0002 *1CH*43] 2,200




SN SERD
3y sEUHSY
Chel: sEARNYE & 88 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 Tl 3,000 3,000
IEET 3,000 3,000
OsZHE I8 T2 29
6,0002*55+100H 3,000
301 EetE2 N = 3,200 3,200
11 ALEBIXNIES 3,200 3,200
Os&deg - X8 Z208 Mg & =S4 X
el 8,000& 400 3,200
Dz E8(s48 - HE) 140,000 0 140,000
= 70,000
Al 70,000
402 QI”F X201 & 140,000 0 140,000
= 70,000
Al 70,000
02 QI X2 AL E R (01X THR) 140,000 0 140,000
OsAlE HEIIE 433 Jl= MY
70,000,000 * 190 2 70,000
= 35,000
Al 35,000
OB L 28D IIBIIE 4B Al
70,000,000 *10H 2~ 70,000
= 35,000
Al 35,000
SENE S3oHe 60,000 500,000 A\440,000
= 30,000
Al 30,000
SEXNE JIBEE(HEAY) 60,000 500,000 440,000
== 30,000
Al 30,000
405 KHaHE SH 60,000 0 60,000
[ 30,000
Al 30,000
01 AL =S F=H 60,000 0 60,000
OsIIH 19 B#ZESTEY 7Y
60,000,000 1CH 60,000
= 30,000
Al 30,000
SHE IE)Is 28 213,850 229,917 16,067
[ 20,000
Al 193,850
sHE SEIISII=2ESMH 23 136,650 185,917 AN49,267
101 eI24d| 49,380 49,347 33
M ORNZZ2NSE S 49,380 49,347 33




A SEXNED
M ZEQIERY
ool sA2 JlEDIE 28 (crel: g)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O ARA(sHSIIB) |82l &Y
BX) 49,380
>ol2a 2,386,780 x2Z 93 42,963
> AX=E 11,4203 *8A| 2+ %2 H+8 1,462
>=0AZRYEZ 44,423,8003 4. 5% 2,000
DHABEZ 44,423 8003 *3.545% 1,575
CEIRYBEZ 1,575,000 *12.81% 202
DNESER 44,423,800 *1.75% 778
DAMEEZ 44,423,8003 0. % 400
201 L2 AH| 45,270 46,570 21,300
01 AtR2eltl 22,270 19,850 2,420
Os&20IE)|=88dH 2Z+28H|
150,000& x 123 1,800
O4rot™ HAIZ2 HZ
2,000,000 *14] 2,000
OXNEE, YL ZE, EHQAL HAte
= 300,000& *253] 7,500
OHACCP = XI2el 5,450
DsAMSIE) =2 SHEH /M2t 01M
= SA=F 500,000 43| 2,000
Ds&MSOIEI|=8EMEH HASEH J1
B2 150,000& 158 2,250
>HACCP S| W= &It 200,000 +6H 1,200
ORds 2 150,000 & x6H *23| 1,800
ogr=d 310,000& =123 3,720
02 S=29| 23,000 26,720 A3, 720
OMASHIA MUFEE U olylar el
BEa 500,000& * 14 500
OJIE&EH| sXl2el 150,000 *90CH 13,500
OAlE RXl2tel 5,000,000 * 14! 5,000
OHACCP 215 =XI&te] 2,000,000 *23| 4,000
206 =4l 42,000 22,000 20,000
01 M=l 42,000 22,000 20,000
Os&2013)|=88dH 22 7
1,500,000& *12& 18,000
O=sdtE 228 JIIEHE S & 2
5,000 *1,00004 5,000
O=sdt=Z 22 JIIBHE Z3M & 2 2
9,500,000& x2& 19,000
ShtE IS8 H&E8 37,200 44,000 26,800
307 QIZt01 A 37,200 44,000 6,800
02 QIZHBAAIEER 37,200 44,000 6,800
Ostnzga 428 ALRELRX XA
36,000,000 *70% 25,200




FA sENED
3y sEUHSY
el sS&E JI30Is 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot Jisd=E 230 X3
24,000, 000& *50% 12,000
sttE JIBJls EEs AR 40,000 0 40,000
[ 20,000
Al 20,000
207 ARl 40,000 0 40,000
[ 20,000
Al 20,000
01 H7ESHI 40,000 0 40,000
OXlgisdtz 0l8st Jisd Zel HE
15,000,000 * 14| 15,000
s 7,500
Al 7,500
O==Hicl 0ISst HOAS N
15,000,000 * 14 15,000
[ 7,500
Al 7,500
OJ1dat ME SEME & S 2"
10,000,000& * 14| 10,000
s 5,000
Al 5,000
dY2IFHI(sEHEM) 260,541 204,227 6,314
= 14,000
= 5,000
Al 180,297
= 61,244
A2 (sEXE) 220,327 208,033 12,294
= 14,000
< 5,000
Al 140,083
= 61,244
H2IAH(sENHEL) 129,083 123,575 5,508
101 212A4H| 129,083 123,575 5,508
01 2= 120,302 116,865 3,437
OAlt222+E
11,1302 %362 *x300A1 2+ 120,302
03 SR (RINHA) 222+ 8,781 6,710 2,071
oggdzZzd 8,781
DUYARA(HLESUT)
17,8082 x 1 *60A[ 2t 1,069
DEAMRA (SN HSHAIE )
18,3602 x4 *60AI 2+ 4,407
DEYARIA (U2, IISHH)
18,3602 x3E *60AI 2+ 3,305
IARIH|(XYSst=s2d0|E FES) 44,622 39,875 4,747




A SEXNED
. HY2IHH(sE=XA)
CHRl: CIAERH|(SEXAD) (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 4,000
Al 6,000
= 34,622
101 2124l 36,880 35,700 1,180
= 4,000
Al 6,000
= 26,880
03 SRH(RINHS) 22X 2+ 36,880 35,700 1,180
OXSEs=sI) =228 25 21| 34,724
>ol23 2,155,830& *12& 25,870
= 4,000
Al 6,000
= 15,870
> ARt 82,5202 x12& 991
= 991
DALY 1,077,915&%23| 2,156
= 2,156
> &M= Al 140,000& «12& 1,680
= 1,680
DEME==E | 120,000& x 123 1,440
= 1,440
> YE IO 1,293,483 23| 2,587
= 2,587
OHIA= 2,155,830 *13| 2,156
= 2,156
M HAIRE3S 7,742 4,175 3,567
= 7,742
M SRHE(RINHSL)2ZX B828€=2 S 7,742 4,175 3,567
O=01H3Z 23 40,473,230 3 *4 . 5% 1,822
= 1,822
O=0UAHAUBEZ 40,473,2303 *3.545% 1,435
= 1,435
OMINQLYEEZ 1,434, 7803 *12.81% 184
= 184
(@NE=1h=: 1= 40,473,230 *1.75% 709
= 709
OHNEE = 40,473,230 +0. 9% 365
= 365
OEAAHZ 3,226,070 1% 3,227
= 3,227
OIHARAY|(=LHIUE 2HXIA) 46,622 44 583 2,039
= 10,000
T 5,000




A sEXE
M HYRAZH(sENHE L)
Cel: QIH2HH|(sERHEW) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 5,000
= 26,622
101 @124H| 38,713 37,177 1,536
= 10,000
== 5,000
Al 5,000
= 18,713
03 SRA(RIH )22 U2+ 38,713 37,177 1,536
O=goltis Exe(sgazosedy) 36,513
>llEs 2,199, 1602~ 128 26,390
= 10,000
= 5,000
Al 5,000
= 6,390
PRLPNESS 84,1792 20 1,684
= 1,684
>PE2g 1,099,580 & 22 2,200
= 2,200
D> MG A 140,000« 12& 1,680
= 1,680
> uEE x| 120,000« 128 1,440
= 1,440
>ItEsg 40,0002 122 480
= 480
>EESIII 2,199, 1603 «60%*22] 2,639
= 2,639
Odol= 2,199,160& *12] 2,200
= 2,200
WM H=sEE=S 7,909 7,406 503
= 7,909
M SRH(PINAHA) 22N 2RSS S 7,909 7,406 503
OEI&H= 3,319,302 %1 3,320
= 3,320
O=uH=Rg=s 41,135, 7703 %4 . 5% 1,852
= 1,852
(@Faksi-=t= =3 41,135,770 *3.545% 1,459
= 1,459
OFINLEE= 1,458,2702%12.81% 187
= 187
ounssEgs 41,135,770 %1.75% 720
= 720
OttiEg= 41,135,770 0. %% 371
= 371
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